
Décimaux – Forme Développée (F)
Écrivez chaque nombre exprimé ci-dessous dans sa forme régulière.
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1. (8 × 100 000) + (5 × 10 000) + (2 × 1 000) + (5 × 10) + (7 × 1) + (1 × 1/100) 
+ (8 × 1/1 000) + (2 × 1/10 000)

2. (3 × 100 000) + (3 × 10 000) + (4 × 1 000) + (1 × 100) + (1 × 10) + (7 × 1) + 
(8 × 1/10) + (9 × 1/100) + (7 × 1/1 000) + (6 × 1/10 000)

3. (3 × 100 000) + (2 × 10 000) + (1 × 100) + (7 × 10) + (9 × 1) + (6 × 1/10) + 
(2 × 1/100) + (8 × 1/1 000) + (9 × 1/10 000)

4. (7 × 100 000) + (8 × 10 000) + (8 × 1 000) + (4 × 10) + (3 × 1) + (7 × 1/1 
000) + (8 × 1/10 000)

5. (1 × 100 000) + (3 × 10 000) + (9 × 1 000) + (8 × 100) + (8 × 1) + (9 × 1/10) 
+ (5 × 1/100) + (9 × 1/1 000) + (1 × 1/10 000)

6. (3 × 100 000) + (5 × 10 000) + (6 × 1 000) + (7 × 100) + (2 × 10) + (7 × 1) + 
(2 × 1/10) + (8 × 1/100) + (1 × 1/1 000) + (7 × 1/10 000)

7. (6 × 100 000) + (3 × 10 000) + (7 × 100) + (4 × 10) + (7 × 1/10) + (9 × 
1/100) + (8 × 1/1 000) + (9 × 1/10 000)

8. (2 × 10 000) + (6 × 1 000) + (9 × 100) + (7 × 10) + (7 × 1/100) + (6 × 1/1 
000)

9. (3 × 1 000) + (7 × 100) + (7 × 10) + (7 × 1/10) + (2 × 1/100) + (8 × 1/10 
000)

10. (2 × 100 000) + (8 × 10 000) + (4 × 1 000) + (5 × 100) + (9 × 10) + (8 × 1) 
+ (1 × 1/10) + (9 × 1/100) + (3 × 1/1 000) + (7 × 1/10 000)



Décimaux – Forme Développée (F) Solutions
Écrivez chaque nombre exprimé ci-dessous dans sa forme régulière.
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1. (8 × 100 000) + (5 × 10 000) + (2 × 1 000) + (5 × 10) + (7 × 1) + (1 × 1/100) 
+ (8 × 1/1 000) + (2 × 1/10 000)
852 057,0182
2. (3 × 100 000) + (3 × 10 000) + (4 × 1 000) + (1 × 100) + (1 × 10) + (7 × 1) + 
(8 × 1/10) + (9 × 1/100) + (7 × 1/1 000) + (6 × 1/10 000)
334 117,8976
3. (3 × 100 000) + (2 × 10 000) + (1 × 100) + (7 × 10) + (9 × 1) + (6 × 1/10) + 
(2 × 1/100) + (8 × 1/1 000) + (9 × 1/10 000)
320 179,6289
4. (7 × 100 000) + (8 × 10 000) + (8 × 1 000) + (4 × 10) + (3 × 1) + (7 × 1/1 
000) + (8 × 1/10 000)
788 043,0078
5. (1 × 100 000) + (3 × 10 000) + (9 × 1 000) + (8 × 100) + (8 × 1) + (9 × 1/10) 
+ (5 × 1/100) + (9 × 1/1 000) + (1 × 1/10 000)
139 808,9591
6. (3 × 100 000) + (5 × 10 000) + (6 × 1 000) + (7 × 100) + (2 × 10) + (7 × 1) + 
(2 × 1/10) + (8 × 1/100) + (1 × 1/1 000) + (7 × 1/10 000)
356 727,2817
7. (6 × 100 000) + (3 × 10 000) + (7 × 100) + (4 × 10) + (7 × 1/10) + (9 × 
1/100) + (8 × 1/1 000) + (9 × 1/10 000)
630 740,7989
8. (2 × 10 000) + (6 × 1 000) + (9 × 100) + (7 × 10) + (7 × 1/100) + (6 × 1/1 
000)
26 970,076
9. (3 × 1 000) + (7 × 100) + (7 × 10) + (7 × 1/10) + (2 × 1/100) + (8 × 1/10 
000)
3 770,7208
10. (2 × 100 000) + (8 × 10 000) + (4 × 1 000) + (5 × 100) + (9 × 10) + (8 × 1) 
+ (1 × 1/10) + (9 × 1/100) + (3 × 1/1 000) + (7 × 1/10 000)
284 598,1937


